Poéle a bois ALCANDE référence 6109 44

09/02/2015


https://carre-lutz.com/acatalog/Pieces-detachees-pour-appareils-Invicta.html
https://clpieces.com/1653-invicta-pieces-detachees-pour-appareil-de-chauffage



Frederic
Mettre en évidence


Poéle a bois ALCANDE

référence 6109 44
Repére | Nbr | Désignation Référence
1 4 Tirant 185 AS610229A
2 3 | Tube AT610435B
3 5 | Rondelle M12 AV4110120
4 1 Ecrou M12 AV7100120
5 4 | VisTH M12x40 AV8402400
6 3 Vis téte bombhée BHC M12x40 AV8681240
7 1 | Socle F612135U
8 1 | Coque trépied F612137B
9 1 | Tampon décoratif F612139B
10 1 Dessus décoratif F612138B




